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QUESTION 1

A typical Nokia 7750 SR Media Dependent Adapter (MDA) interfaces with: 

A. A Small Form-Factor Pluggable (SFP) module. 

B. The Central Processing Unit (CPU). 

C. The Control Plane. 

D. The Switch Fabric. 

Correct Answer: A 

 

QUESTION 2

What type of MAC address is 01:00:5e:01:01:01? 

A. Unicast 

B. Multicast 

C. Broadcast 

D. Anycast 

Correct Answer: B 

 

QUESTION 3

Which of the following statements about router R1 is TRUE? 
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A. Router R1 is an iLER for both LSPs. 

B. Router R1 is an eLER for both LSPs. 

C. Router R1 is an iLER for LSP A and an eLER for LSP B. 

D. Router R1 is an iLER for LSP B and an eLER for LSP A. 

Correct Answer: C 

 

QUESTION 4

Which of the following statements about IP addressing is TRUE? 

A. IP addresses are assigned by IEEE to vendors. 

B. Classless IP addresses provide hierarchy based on a variable length subnet mask. 

C. Classless IP addresses provide hierarchy based on fixed subnet masks of /24, /16, and /8. 

D. IP addresses provide hierarchy based on the country code and regional identifier. 

Correct Answer: B 

 

QUESTION 5

Which of the following information can be seen within the FILE context of the SR 7x50? (Choose 2) 

A. File sizes 

B. Port statistics 
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C. Log-id 100 files 

D. TiMOS image files 

Correct Answer: AD 
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